
CET 12 Level 1 SHIFT - Answer Key

1. Choose the most appropriate articles to fill in

the blanks, where applicable:

It is

with such
(A) x, the, an

(B)a, the, a

(C) a, x, an

(D) x, x, an

(E) Question not attempted

the blank:

2. Choose the most appropriate option to fill in

(B) Every

(C) Very

student in the class passed the

examination conducted in the month of April.

(A) All

(D) None

pleasure to do

(E)Question not attempted

(A) Signature

efficient organization.

3. Which of the following does not feature in

writing a Notice? Choose the correct option.

(B) Time, date and place

(C) Minutes of the meeting

(D) Agenda of the meeting

(E) Question not attempted

(B) 81

3, 15, 35, 63, ?, 143

(A) 125

(C) 75

(D) 99

business

(E) qaT TT

1

5. + 3i - TT8 r 7 r T qGt T<

(A) 8-7+3x5=35

(B) 7x8+6-9=25

(C) 6+8x2-7=0

(D) 8x2+7-6=9

(E) 47tRa TT

(A) 3,732
(B) 1,866
(C) E933

(D) 737,320

(E) 4gfRT TT

7.y* e
ÌT 50o , 25 t 10

ž 50, 25 r 10

(A)150

(B) 240

MIND MAP

(C) 260

(D) 280

b. a gT A sT B T

fAT
R
T T
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(A) +qTa, c sir e

(B) a, b r e

(C) 4 a, b r d

(D) a, b, d t e

(E) 4tfrT TN

ir (SCP) fry 3yarft
(A) feyefT
(B) frTEiT fATEeT
(C) EEHf viefreA
(D) ÌTTH YYOT
(E) gfa A

(B) THTfua f
(C) 3TATT (a133TT)

(D) 75(fts) f
(E) gaf IT

Read the passage carefully and answer the

questions that follow:- (Q. 11 to 15)

Asthma is a respiratory disorder that we have

known about for hundreds of years. However,

there is still no cure although drugs, such as

steroids, and inhalers can alleviate the

symptoms of an asthmatic attack, and there is

stillno known cause. Worryingly, the number of

people who suffer from asthma is increasing

rapidly. In some countries in the world the

disease is becoming more like an epidemic.

Because of the huge increase in the number of

cases in the last 30 years, there is a widespread

feeling that some kind of lifestyle change is to

blame. Since asthma is a disease which impairs

2

breathing, many researchers have thought that a

reduction in air quality might have caused the

increase in it. However, it is now thought that

although the pollution in the atmosphere might

exacerbate the condition, it is unlikely to be the
cause of it.

MIND MAP

For a considerable time, household dust mites

were thought to be a possible cause of the

condition, but attempts to keep these to a

minimum have not reduced the numbers of

asthmatic sufferers. Far from it.

Now researchers are looking at diet to find the

culprit. The period over which asthma has
increased dramatically in Some countries

coincides with a period when there have been

major changes in diet in countries which have
seen the highest rates of increase. It was first

thought that some kind of dietary allergy might

be a major factor.

At the moment, researchers looking for a dietary

trigger for asthma are considering whether a

lack of antioxidants could be responsible. Their

possible protective powers have been much

discussed in connection with other diseases.

Now, doctors are wondering if a diet rich in

things known to contain high levels of

antioxidants, such as fruit and vegetables, would

prevent asthma, especially if such a diet was

followed by pregnant women.

Meanwhile, the schoolbags of more and more

children contain an inhaler as well as books and

notebooks. Something at school could trigger an

attack and they must be prepared.

11. The use of steroids and inhalers for asthma

is to:

(A) heal it

(B) relieve it
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(C) cure it

(D) intensify it

(E) Question not attempted

12. For a long time it was believed that although

one of the following might exacerbate the

condition (asthma), it is unlikely to be the cause

of it:

(A) an unhealthy lifestyle

(B) the poor air quality

(C) insufficient exercise
(D) wrongdietary habits

(E)Question not attenpted

13. ldentify the statement which focuses on the

newest possible cause of asthmatic attack:

(A) The pollution in the atmosphere probably

exacerbates the condition.

(B) Household dust mites were thought to trigger

the attack.

(C) A diet deficient in antioxidants may be

responsible for the condition.

(D) Dietary allergies might be a major factor.

(E)Question not attenpted

14. Which of the following is not likely to trigger
an asthmatic attack?

(A) Cigarette smoke

(B) Dust mites

(C) Fruits and vegetables
(D) Air pollution

(E)Question not attempted

15. Match List-l with List-||

List-I(Words)

a. alleviate

b. impairs

List-ll (Antonyms)

I. assuage

Il. aggravate

C. exacerbate

d. rapidly

options given below:

(A)a-l, b-ll, c-lIl, d-IV

Choose the most appropriate answer from the

(B) a-l, b-IV, c-l, d-II

(C) a-ll, b-IV, C- I, d-I|

(D) a-IV,b-l, c-ll,d-lI

(A) rffterT

(E) Question not attempted

(B) rftT fAUTT

(C) TYTHH
(D) AftATfTT
(E) 4qufkT TT

(A) sTay
(B)

17. TgfT TITT TAT EHretz HAe 2024 T

(C) ftrt
(D) T4Y
(E) eftT IT

(A) 1760 fte
(B)1440 ftee
(C) 1860 fre
(D) 1540 ftae
(E) gafT TT

MINDMAP
III. leisurely

19.52

IV.repairs

(A) e
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(B) 2e

(c)

(D) e

(E) guftT T

20. y# T4ftalg ry f vfturT 32 Afttr

(A) 38

(B) 42

(C) 48

(D) 24

(E) qafa TT

21. af 12 Ms* raT 18 sfht freft arf 14

(A) 7

(B) 9

(C) 11

(D) 13

(E) 4gafrT TT

20+5+20x8-20=38
(A) + sr*
(B) – r +

(C) + r x

(D) - str +

(E) 4tfra TT

23. 'I HfA ct

(B) 3T + g
(C) 3aIT+

6

(D) 3+TaIYz

4

(E) ufT TI

(A)fRrT 4aT
(B) faT jaTY

(D) rfo sarT TY
(E) gaftaT TT

25. 1TT RHTY f TTEfRyr?

(A) qGN3
(B) TT
(C) îHy
(D) T4THTeT

(E) qafT A

(E) 4aftT TT

MINDMAP

(E) AqaftT TT
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28. goujfeasy praT qT, TITT afafaa

(A) s<4Y
(B) tTGt
(C) TR
(D) eT
(E) gaf TT

(A) tt
(B) J<4Y
(C) rtt
(D) T*
(E) rfRaTT

(A) atr
(B) f/tft
(C) 4T
(D) HrH

(E) TtRa T

31. f 'PARK'

'PANDIT

IIT?
(A) 261739

(B) 261789

(C) 231954

"5394', 'SHIRT'

'532068' f f4T TGT

(D) 266734

' 17698 st

(E) gafT TT

5

32. efa qH HGT (?) TT FÈ:

2

4

8

30

(A) 15

(B) 16

(C) 17

(D) 20

1

5

34

(E) gafd TT

33. Choose the most appropriate English word

for the given word:

(A) transgress

(B) transcription

(C) transcontinental

(D) transfigure

(E) Question not attempted

34. Choose the most suitable word to complete

the sentence given:
Aperson who settles disputes/disagreements is

known as an

(A) Altruist

(B) Arbitrator

(C) Anarchist

(D) Ascetic

(E)Question not attempted

35. Choose the most appropriate word opposite

in meaning to:

MINDMAP

CHIVALROUS

(A) Gallant

(B) Discourteous

(D) Brave

(C) Defiant
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(E)Question not attempted

(B) TUrETR ZTEIR fR
(C) rf TETT Rf

(E) qftT TT

(A) 44i durft Heîtgr

(B) 74 Haurft gîrer
(C) 73a† tuftE îry
(D) 42a Hàyrft eîry
(E) 4gaftT TT

38.4argft *

(A)FT HGTT

(B) FTfT TIHT
(C) Tf ETHT
(D) YrftuT FATTAqTHT
(E) aguftT IT

39. Choose the word most similar in meaning to

the underlined word in the sentences.

The acerbic remarks of the boss were

unwarranted as she had put in a lot of effort in

preparing the presentation.
(A) whimsical

(B) bitter

(C) appreciative

(D) childish

6

(E) Question not attempted

40. Choose the word most similar in meaning to

SPURIOUS from the options given:

(A) soiled

(B) incessant

(C) unauthentic

(D) considerate

(E) Question not attempted

(32 faz) T 39UT fAT TAT?
(A) TT
(B) fafr
(C) qftr
(D) gf
(E) 4afa TT

42. fAafafa TfFZAHÍZŽTT?
(A) HT (Excel)

(B) Íqr qTgre

(C) HH TS

(D) ferRT
(E) AgaftT IT

MINDMAP

(A)ar4T
(B) rT
(C) T
(D) art

(A)17 4T 1948

check
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(B) 25 H 1948

(C) 18 T 1948

(D) 30 T 1949

(E) grfT VT

45. 2011 HT TR afafar

(A) ttt
(B) rT
(C) ATS
(D) rft
(E) qrfT VT

46. fAafafar T AISEYE frArET?
(A) HIGH

(B)

(C) ftr
(D) TufzA
(E) tfRaTT

47. 1frf terae) TaR:
(A) 1024 t. at (eaTEC)

(B) 1024 TSH
(C) 1024 y ft ATATEE)

(D) 1024 sftt (frATEE)
(E) gaf TT

48. Aafrfrr HT ATfte Ser

(A) Abrer

(B) feT
(C) fer T4
(D) fT 3TteT

(E) AgtfT TT

7

(A)TrigHT

(B) frtâ
(C)

(D) zH1gfr5

(A) 4Tt st

(B) 5° T

(C) 10°T

(E) 4gfRT TT

(A) 17

(B) 18

(C) 19

(D) 20
(E) AguftT T

MIND MAP

(A) T Arf H4aT (Purchasing Power Parity)

(B) rafs Aft iyft rftart (Public Private

Partnership)

(C) T Rrft yoT (Purchasing Power Price)

(D) rÉaf HrftaRer (Public Partner Price)

(exothermic reaction) t?
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(C) THT

(E) gafrT TA

(A) T

(B) EgTIT
(C) yett
(D) TgE
(E) gtfta I

(A) rTT% frfeT
(B) sfrrgTft fT
(C) farT ffT
(D) aify fafrT
(E) qafT TT

56. fArafafer ga farfar ya
a. y+aT
b. afeT
C. qeft
d. HUsft

e. 1

(A) FAT a, b

(B) h4a, c stt e

(C)

r c

b, d nr e

(D) 4b, c t d

(E) gafT IT

57. fAafafar a frfar qT

(E) qafT TT

(A)

(B)

HrY fAT
T 3S1T

(C) qtt AT

(E) qafraT TT

59. trfftE, 2024 R2 #fRT 10 fr r

yt ftaT ?

(A) TT AyATT

(B) rat GT
(C) Trqft Tyg
(D) fftart
(E) afT TT

(A) faarT

(B) HT4TNF TfHT
tatfr farT

(C) rf HTH T faT
(D)IaAT

MIND MAP

(E) gtfT TT

(A)TfT q
(B) goufeaiiry raR qT
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(E) gafT IT

62. "9TeT HE gfrarsu
,
Araffaa , HT

(A) YoTT

(B) TIGEAT

(C) feer
(D) afararg
(E) gaf TT

63. fHTGft ftt Tt aafar -T

(E) guftT VT

(Rulers) r zrfar?
(A)fRog (Review)

(B)

(C)

(D) t4 (Normal) y

(A) F9

(E) qf TT

(B) F3

tHT (Page Setup)

(C) F5

ATSE (Page Layout)

(D) F7

(E) gaf TT

9

66. Choose the most appropriate word to

complete the given sentence:
I wasdelighted

my retirement.

(A) from

(B)about

(C) with

(D) for

(E) Question not attempted

67. ChoOse the most appropriate word from the

options to complete the given sentence.

Despite her illness, she insisted

(A) on

to work as she had plenty of pending work.

(B) in

(C) for

(D) to

(B) at fAAT

(E) Question not attempted

(E)

MIND MAP

(D) HrtfE AF Haftarr
fRa TT

(A) 15 gT 2021

the present you gave on

(B) 14 34T 2021

(C) 14 GT 2022

(D) 14 3TET 2022

(E) gf TT

going
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(A) 3,000
(B) 3,500
(C) 4,000
(D) 24,500
(E) tfRaT

(B) TATE aig

(D) GT Y
(E) 4gf TT

(A) rE
(B) yrtT
(C) f
(D) TTT
(E) gafa TA

(A)fuT HTaT

tft(B)

(C) Trz YTH

(D) ft 4aft
(E) ufTTT

74. gaT fhT fOrs T?
(A)fr
(B) frT

10

(C) HTE

(E) afdTT

(A)=+!
(B) =1-!
(c)=1-!
(D)--4
(E) gf TT

3.2 x 105 Tr THT 60°I 3H AT TT

(A)3.2 x 10-5 T

(B) 1.6 x 10-5 T

(C) 6.4 x 10-5T

(D) 12.8 x10-5 T

(E) gtT TA

(B) 4dT aUT

(D) qraafr fUT

(E) gafd TT

(A) (11, 143)

(B) (7, 67)

(C) (5, 35)

(D) (13, 195)

MIND MAP

(E) 4qafkT TT
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(A) rERT

(B) «faaT

(C) rft
(D) 4g
(E) tfRaT

(A) qT- Ho4
(B) ATAR - G4
(C) fafr- jgaR
(D) afa - AàT

(E) 4gfa TT

(A)ATaft
(B) 4
(C) Hrft
(D) rfut
(E) tfRaT

(B) YfRTT

(C) TYT

(D)

(E)
HE
tfRaTT

83. Tfa m t n; x² + px +q = 0 U

m²+ n²
(A) p² + 2q
(B) p + q

(C) p²– 2q

qAr?

11

(D)p- q

(E) gafd TT

(A) 7500; 2500
(B)7000; F3000

(C) 7300; E2700

(D) Z6250; 73750

(E) qfT TT

(A) Hrgt
(B)

(C) r
(D) T
(E) 4tfkT TT

(A) 3
(B) T

(C) 3
(D)3T
(E) gafa T

87. f-1 q-| àTfra ffry:

a. HHR

b. t
C. AET

d. fia

MIND MAP

(A) a-IV, b-lll, c-lI, d-l

IV. srufg
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(B) a-IV, b-ll, c-lll, d-l

(C) a-ll, b-ll, C-IV, d-i

(D) a-l, b-ll, c-ll, d-IV

(E) qafT TT

88. fAafrfàa 'r T4fYATt

(A) qy

(B) T
(c) frqr
(D) faT

(E) RaTT

Gfe_ig_eii feigf_ii
(A) e ifgi
(B)figie
(C) ifige

(D) ifgi e

(E) aguftT IT

(A)

(B)

(C)

iii

12

(D)

(E) gafT VT

(A) 4TT

(B)

(C) 3TÍeT L1

IH

(D) fafta YCA HTÍRH (T NE)
(E) qafd TT

92. sfr. fr. qH (GPS) TUTeft T H r

(C) 3493 HT
(D) af graqu

(E) gaftr TT

(A) GPS

93. 3rHtT (US) TT faaftrr Tft Pat gYUE

(B) fifr (Galileo)

(C) atar (BeiDou)

(D)

(E)

MIND MAP

H(Glonass)

tRd TT

(B) X* fRATT: gfTF YAE
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(E) tfkTTT

95. 2Mg+02-+2MgO

(A) 3ryTfAa

(B) 3RfT
(C) faifT
(D) farrfRa
(E) ft IT

(A) HZ-THTfaaT

(B) yuf gfaaT
(C) ZYHTfaaT

(D) FUfraT

(E)gtfta I

(A) qTfruta (yfaifeuf)-8oy, HTrft
(B) ET (AIDS)-TATH

(C) Aft-$RafT
(D) ZT< (T ATÉ)-yfAStsTgeT
(E) gaf TT

(A) EH AIDS)

(B) IEEs
(c) Šy

(D)

(E)

T

tfRaTT

99. fA TGT (Text) rsft aIRI AT

(A) H614

(B) farE giyarAT

13

(C) 41qT A 51T

(E) afdTT

(A)

(B)

AATZT

fuT
(C) rtsf yàST
(D) fs
(E) tfd T

(A) 4 a

(B) ar a ttb
(C) qTb
(D) T a T Tb
(E) 4qufraT IT

(A) #YT fHTSS
(B) #YTrtte
(C) yT HotE

(D) yT T
(E) gtfRd TA

103. f8et HT TET -

(A) 4Raft+freTtT

MIND MAP

(B) ygtr rrstTT 2-3% fagT
(C) fehat T0.2% frT
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(A) y*T
(B) BSa TT
(C) 3134 YT
(D) H HTT

(E) agufT IT

(A) TYTAEft tg

(D) efrE sfRrUr EATT

(E) 34gtfrT IT

(A) AŽ

(B) t
(C)

(D) T4T
(E) gaf IT

107. faar HfTfaar
(A) fa: + à
(B) f +àr
(C) t+àz
(D) ft: +à
(E) gafd TT

?
(A) YaTH

(B) T#for

14

(C) frrtS
(D) uft

(A) Tyq
(B) frr
(C) ta
(D) fay
(E) afTTT

110. qf- q| ÀAfrr fy :

a. yoq T
b. heft iT

d. heft 31G1

(A) a-ll, b-l, c-IV, d-I|
(B) a-ll, b-l, c-lll, d-IV

(C) a-l, bll, c-lll, d-IV

(D) a-l, b-ll, c-IV, d-l|

(E) aqufta TT

111. rffAT f

(A) 23 TUTIS XX

(B) 234 TrHT IS XY

(D) TgŽfgr

(C) y% afT J4T (terir)

(E) gafT TA

(A) ZEYRIEeT

(B) Ttetf fr
(C) ter

MIND MAP

(D) r er

I. ZTfiT
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(E) agafta TT

(A) F5

(B) F2

(C) F6

(D) F8

(E) ufTT

(A) T
(B) <fau
(C) GT
(D) Tfar4

(E) TtRa T

(A) 17

(B) 18

(C) 19

(D) 20

(E) gfT TA

116. t grszrer gHR Aafafat groai

charity, carton, caravan, cardigan

(A) Carton

(B) Caravan

(C) Charity

(D) Cardigan

(E) 3tftT IT

15

(A) ftraST
(B) T YTT

(C) TY
(D) H3
(E) gaftr TT

(B) Zftr
(C) qft-H|
(D) fr IKTY
(E)

a. qG

b. hs
C. YIH

d. HisT

tRa TT

(A) a-IV, b-lll, c-l, d-l|

(C) a-l, b-ll, c-lll, d-IV

(B) a-ll, b-l, c-V, d-Il|

(D)a-lll, b-IV, c-ll, d-l

fRTTT(E)

aft?
(A) f fT
(B) UTs frT
(C) f4fhT
(D) 44f fT

MIND MAP

I||. F4ST

IV.TAt
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(E)agfa TT

a. ABRIDGE

b. ANNEXURE

c. AMENDMENT

d. APPROVAL

(A)a-ll, b-!ll, c-IV, d-l

(B) a-1V, b-l, c-ll, d-ll

(C) a-ll, b-IV, c-lll, d-l

(D) a-ll, b-ll, c-iv, d-l

(E) fa TA

122. 'Acknowledgement tuiaT ŽTT
(A) fra
(B) Tft
(C) faarfT
(D) THTU

(E) aftTTI

123. * yT ABC , AB = BC str AC f aTÊ,
AB TT V2 TT Tf AABC #T YfLHTY(14

+7 N2) .ft., AABC T A5

(A) 59 cm2

49

2
(B) cm

(C) 69 cm2

75(D) cm?2
(E) af TT

Re

IV. isîTgT

124. Tfà PQ|| RS, t a +b + c #T HIT ATT FÈ

b
S

16

(A) 180°

(B) 270°

(C) 360°

(D) 280

(E) 4tfkT TT

125. "EEPROM" #T qof TT:

(D) feft UtgT fs t

(E) gafa A

(A) 20 3ET
(B) 23 3ET
(C) 25 TT
(D) 27 TET
(E) gafA TT

127. qft-1 T fAMTT YtITffar

a. frraÉ
b. ry 4fr
c. fRHT TH

d. ift1FHTt

(A)a-iv, -ii, c-i, d-ii

(B) a-ii, b-iv, c-i, d-i

MIND MAP

(C) a-i,b-ii, c-ii, d-iv

(D) a-i, b-i, c-iv, d-ii
(E) gafa TT

(A) AYTT

ii. friarsft

iv.qyafeRT
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(B) airqrT
(C) frfriT
(D) eT
(E) grfT VT

129. Choose the most appropriate English

translation of the given sentence.

(A) Why she is weeping?

(B) Why is she weeping?

(C) She why is weeping?

(D) She is weeping why?

(E)Question not attenpted

130. Choose the most appropriate reported form

of the given sentence:

He said to him,"ls your name not Robin?"

(A) He inquired whether his name was not

Robin.

(B) He asked if the name was Robin.

(C) He said that wasn't his name Robin

(D) He asked if my name was Robin.

(E) Question not attempted

131. Choose the most appropriate option to fill in

the blank:

When my friend came to collect her books, Iwas

a little embarrassed as I

the five books that Ihad borrowed.

(A) read

(B) will have read

(C) had read

(D) have read

(E)Question not attempted

only one out of

132. Choose the most appropriate option to fill in

the blank:

17

The police officer stopped us and asked us

where

(A) were we going

(B) are we going

(C) we are going

(D) we were going

(E) Question not attempted

133. Choose the most appropriate passive

construction of the sentence given:

Everyone knows the facts of the case very well.

(A) The case is known to everyone very well.

(B) The facts of the case are very well known.

(C) Everyone is known to the facts of the case.

(D) Everyone knows the facts of the case.

(E)Question not attempted

(A) h4Ta, b sr d

(B) b, c ît d

(C) qTa, c sr d

(D) b, a sir c

(E) gfa TT

MIND MAP

(A) AR

(B) TY
(C) regr
(D) 41qR
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(E) afkTTT

(A) T46
(B) T

(C) T

(D) TT
(E) tfRaT

(B) f- y

(C) T-faHT
(D) yA-ifa
(E) tfRaT

138. fAafafar yeqqrgE HŠHH
(A)

(B) H
(c) à
(D) ATY

(E) gaf TT

(A) 25

(B) 50

(C) 75

(D) 90

(E) AguftT TT

140. y5 q a1,800 g T 25% f a

18

(A) 25%

(B) 35%

(C) 30%

(D) 33 %
(E) ft TT

(C) saft sYA TTftà

(E) 4gfa TT

(A) fervftarT
(B) ytT
(C) fqr
(D) (Ar) heg

(E) gatT TT

(B) ffohUT THTRtiT

(D) farrT Afor yftfet
(E) gafT TT

(B) MIT AH

(C) . ft. Jr

MIND MAP

(D) 4. ft. qasff
(E) gafT TT

check
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145. YTT THTT (01 frGrz, 2024 f)

(B) T|UTTT

(E) qafta TT

(A) 1506

(B) 1510

(C) 1518

(D) 1526

(E) RaT

(A) faT
(B) fRrT

(C) TT HATT

(D) T 4ATT

(E) ufRaIT

148. fa t t (r9k) fRaT 2024 T 4 (ya

(E) gaf TT

(A) ATgtT

19

(B) «TY
(C) tag
(D) THHG
(E) gtfta T

(A) 9rTaT yHÌT
(B) rftHr yHIT
(C) qrT yRIT
(D) TRT yHIT
(E) gtfT TT

MIND MAP

check
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